W=1200LF W=1200L4F W=1200L4F 90~ 100 @
20~30
kv FL—IL(AL)
S6540 g @
65 ‘ ‘ 10
i i I
325 325 M4 x 20 | | 1
by FL—ILZIFAL) |
81 S6113 | | | %
IS IS AF AR | | | NN
10 R %
o IP55CHD \ \ \ M| *
-
| | |
D64 R4a(SUS) : 1 1 3 @
Max1e B B £ 1 - vsL
R s | ¥SL
7 ILSEARAL) N ﬁ% 3 j @
SKN— * * * I mEX ©
&F(AL) TaqUhAL) T 7 \I 40
$2423T SKN * * % JA @
N
e FAEAL). a1/ MRILE—AL) NEER==
S5545 X (AL
I/ SKN* % kJHA 50\
% 24 | f32.5 | |/55 — g%k AU , 35;:"'_5 L)
¥ * ) 3 3 ZERARILF—(AL
* % : : N - — i ——— e
1|z ) ! FILEYALT U H—(AL) Sathr a0 | — h:! SKN * * % HA
¥| X SKN * * % JCA L]
| W N TS400A-(80.100.120) 4 ==
* NN FRAYE UL (P-SUS) ook | 100 |
‘ | M4 x 25 ZAL=4000LLF |[10 & AL=4000LLF
| . — XH(AL) FREYERL(P-SUS)
! !/ ZERVIAVNENFE AR S5545 M4 x 25
T ‘ T# (AL FREyERL (P-SUS) XH(AL) FILIEAR(AD FHLIS7YMAD FIEYALT U H—(AL)
INEn S4430 M4 x 25 S5545 SKN— * % * BKT31130 TS400A-(80.100.120)
‘ ‘ BHLISrYRAL)  FIESYLUTUh—(AL) BFHLIZ7yMAL  BRAN—(FAHZXE) M67RY T wAL) BEftE& Aty (AL
i i BKT31130 TS400A-(80.100.120) BKT31130 PS55FKD F<ERIL M6 X 20(SUS) PMP75WHA+PEPCHA
§ ‘ BhK R/ AT eRX 7 H—(SUS)
a4 | PSG5EPG SGA-M8.”M8 % 35
3 B2 BRH A~ (L AHRR) TR Fry TR
A/ ErNTZAAAN 8l _wemy oo @l _mem ol
-t PS55FKD
§ | o TILIEARAL N R
| & /H‘( = % ) 3* - ERIVFFryT (AL
% - ﬂ V2 i m— 4 SKN—* * * e B === SKN * % ¥ WMCA—R./L
~ L N At P N
- BT I B BT —AD TS IME A% R AR) /| w7 FHAL ko L—ILAL BRYELL—Y
s {f']] | SKNx*XHA IP55CHD S2423T S4430 S6540 (KT
S =K BilET57 FHRIURFruFO8ER)
S| 19 SBfAm \j15~ S8R40.”M5 X 50 P=130LAF P=130LLF FS44ECN
o
g 17 17 *&%%7/#_ TR 2 T#L~E 2 TH#L~T% 2| FRLSTE
< o I M12£ 3R )Lk (SUS)
= HWFP=130LLF  50~65/50~65 HFP=130LL T 50~65 | 50~ 65 HFP=130LL T 50~65 [70~90] |20
SEEEIE ST 1805k HE80mm T L h— L ERFE, W=1200E4F W=120024F W=1200L1F 90~ 100
5T B E X XOEE  XHREYFIIKERERECLYERYET, EEEEME XETEISryNIA T aVTT,
R
JAN — g &£ B H I%4 PN ¥ B fERK R B &
— | mat e -
ﬁ 1" % im | | 4 ﬁi‘ *i#/ b W By | EBy | k@ |TER
ﬁ . 2 =% 8= 2 H  FLiEE FEEEE # R (A3)=1/8.1/25
A _— B i | | 7 by T 1 BRI T~ KL-K-0S6540-ND

#1%E B :2006.12.07 HEH: 2010.6.22 2033



